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00 p3812

namespace LB
const int MAXN=63;
LL pl/MAXN|,p2/MAXN!, rk;
void insert(LL X
int i=MAXN-1;i>=0;i--
x&(1LL<<i
plli
x*=pliil;

plli]=x,void();
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LL query(LL x
int i=MAXN-1;i>=0;i--
x*plli])>x
x*=plli];
X;
void rebuild
int i=MAXN-1;i>=0;i--
int j=i-1;j>=0;j--
pliil&(1LL<<]j
plli]”=pl[j];

_for(i,0,MAXN
plii
p2| rk++|=plli];

LL kth(int k){//0 kO
k>=(1LL<<rk -1;
LL ans=0;
int i=MAXN-1;i>=0;i--
k&(1LL<<i
ans™=p2[i/;

ans;
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const int MAXN=31,MAXK= ;
int pl/MAXN];
bool Insert(int X

int i=MAXN-1;i>=0;1i--

x&(1<<i
plii
x*=plii];
pliil=x,true;
false;
int a[MAXK];
int main

int n=read_int();
_for(i,0,n
alil=read int();
sort(a,a+n,greater<int> o
LL ans=0;
_for(i,0,n
IInsert(ali
ans+=alil;

enter(ans);
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const int MAXN=2e4+5,MAXQ=2e5+5,MAXM=63;
struct LinearBase
LL p/MAXM]|;
void Clear(){mem(p,0);
void Insert(LL X
int i=MAXM-1;i>=0;1i--
x>>1)&
pli
X*=plil;

plil=x,void();

LL query
LL ans=0LL;
int i=MAXM-1;i>=0;1i--
ans™pli])=ans
ans™=pl[i];

ans;

LinearBase Merge(const LinearBase &a,const LinearBase &b
LinearBase c=a;
_for(i,0,MAXM
b.pli
c.Insert(b.p[i]);
O

struct Edge
int to,next;

edge MAXN<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v
edge|++edge cnt|.next=head|u];
edge|edge cnt].to=v;
head|u/=edge cnt;
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int sz|MAXN|,mson MAXN|,6 tot sz,root,root sz;
LL al/MAXN|,ans[MAXQ];
bool vis|[MAXN|,mark MAXN];
LinearBase p/MAXN];
vector<pair<int,int> > q[MAXN];
vector<int> d,sd;
void find root(int u,int fa
szlul=1;mson|ul=0;
int i=head|u];i;i=edge[i].next
int v=edgeli].to;
vis|[v]||v==fa
find root(v,u);
szlul+=sz[v];
mson|ul=max(mson/ul,sz(v]|);

mson|u/=max(mson|u|,tot sz-szlul);
mson|ul/<root sz
root=u;
root sz=mson|u/;

void dfs(int u,int fa

d.push back(u);

plul=plfal;

plul.Insert(alul);

_for(i,0,qlul.size

Imark[qlul[i].first

LinearBase t=Merge(plul,plqlulli]|.first]);
t.Insert(alroot]);
ans(qlul[i].second]|=t.query();

int i=head|u];i;i=edge|i].next
int v=edgel[i].to;
vis|[v]||v==fa

dfs(v,u);

void query(int u
sd.clear();
marklul=true;
plul.Clear();
int i=head|ul;i;i=edge|i].next
int v=edgel[i].to;
vis|v
d.clear();
dfs(v,u);
_for(i,0,d.size
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mark[d[i] |=true;
sd.push back(d[i]);

mark|/ul=false;
_for(i,0,sd.size
mark[sd[i] |=false;

void solve(int u
int cur_sz=tot sz;
visiul/=true;query(u);
int i=head(u];i;i=edge[i].next
int v=edgeli].to;
vis|v
;
tot sz=sz/vi/>sziul?cur _sz-szlul:sz|v|;root sz=MAXN;
find root(v,u);
solve(root);

int main

int n=read int(),t=read int(),u,v;
_for(i,0,n
alil=read LL();
_for(i,1,n
u=read int()-1,v=read int()-1;
Insert(u,v);
Insert(v,u);

_for(i,0,t
u=read _int()-1,v=read int()-1;
u==v
ans|i|=alul;

glul.push back(make pair(v,i));
glv!.push back(make pair(u,i));
root sz=MAXN;

tot sz=n;

find root(0,-1);

solve(root);

_for(i,0,t

enter(ans|i]);

1

https://wiki.cvbbacm.com/ Printed on 2025/08/27 00:11



2025/08/27 00:11 7/11 0ooo

goog

[0 0 p4869

HEN

000000000 $text{A}$0C000DOO@OOO0)YIODODOOOODOOOO0O $\text{B}$0

0000000 stext{B}$ 00O O0ODOOOO0ODOO@UOODODOOOOODOO)

RN

000000000000 000 $k$0 0000 Db000n0nooOonD $text{B}$ 0000 DOOO
$2~{|\text{A}|-k}$0

D0000000000000000 $\text{P}$00 0 $\text{CHsubset \text{A}-\text{P}$[]

000 $Win\text{B}$0 $v$ 00D $\text{C}$ 00 0000000000000 $\text{P}$ 000
0000000

04$v$s 00000 $\text{C}$ 000 $\text{P}$ 000 D0DDOOODOOOOOO
0000 $\text{C}$ 0000000000 $\text{C}$ 01000 $2~{|\text{A}|-k}$0 O
D000 $Win\text{B}$gO OO OO $2~{|text{A}|-k}$0 OO DO DODO

000 $|\text{B}\ast 2~ {|\text{A}|-k} = 2"~ {|\text{A}|}$00 0000 $Win\text{B}$0O OO OO
$2~{|\text{A}|-k}$0 OO OOOODO

googgo

gobogobbodbobooobbooood

const int MAXL=63;
LL quick pow(LL a,LL b,LL mod
LL t=1;
b
b&
t=t*a%smod;
a=a*a%mod;
b>>=1;

%mod ;

struct LinearBase
LL pl/MAXL!|,p2!MAXL!,p3[MAXL!, rk;
void Insert(LL x
int i=MAXL-1;i>=0;i--
x>>1)6&
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plli
x*=plii];
pl[i]=x,void();
LL get max(LL x){/000xO00000O
int i=MAXL-1;i>=0;i--
x*plii])>x
x*=plli];
X3
void rebuild
int i=MAXL-1;i>=0;i--
int j=i-1;j>=0;j--
pllil>>j)&
pliil~=pllj!;
_for(i,0,MAXL
plii
p2[rkl=plii],p3|/rk++|=1i;
LL kth(LL k) {//00 k[
k>=(1LL<<rk -1,
LL ans=0;
int i=MAXL-1;i>=0;i--
k>>1)&
ans™=p2[i/;
ans;
LL rank(LL x){/00x0000 0O kO
LL ans=0;
_for(i,0,rk
x>>p3/il)&
ans+=1LL<<i;
ans;
int main

int n=read_int();

_for(i,0,n

lb.Insert(read int ;

1lb. rebuild();

int g=read_int();

enter((lb.rank(q)*quick pow(2,n-1b.rk, +1)%10086 ) ;
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namespace LB
const int MAXN=63;
LL pl/MAXN|,p2/MAXN!, rk;
void insert(LL x
int i=MAXN-1;i>=0;i--
x&(1LL<<i
plli
x*=pliil;

pllil=x,void();

LL query(LL x
int i=MAXN-1;i>=0;i--
x*plii])>x
x*=pl[i];

X;
void rebuild

int i=MAXN-1;i>=0;1i--
int j=i-1;j>=0;j--
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pliil&(1LL<<j
pliil”=plij!;

_for(i,0,MAXN

plii

p2[rk++|=plli];

LL kth(int k){/0k0O
k>=(1LL<<rk -1;

LL ans=0;

int i=MAXN-1;i>=0;1i--
k&(1LL<<i
ans”™=p2/1i/;

ans;

const int MAXN=5e4+5,MAXM=1e5+5;

struct Edge
int to,next;
LL w;

edge [ MAXM<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v,LL w
edge| ++edge cnt|=Edge{v,head/ul,w};
head|u!=edge cnt;

LL dfs s[MAXN!;
bool vis[MAXN];
void dfs(int u,LL s
vis|/ul/=true;
dfs slul=s;
int i=head
int v=edge
vis|v
LB: :insert

dfs(v,edge

int main

int n=read int
LL w;
m_-
u=read int

u
i

;1;i=edgel1i].next
.to;

s™edge/i|.w”dfs siv]);

i

WS ) ;

,m=read int(),u,v;

,v=read int(),w=read LL

Insert(u,v,w);
Insert(v,u,w);

dfs(1,0LL);

’
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